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The 5-phase Stepping Set

BP1 series
AC100V/115V
~ Full-step/Half-step

(500 x 1 divisions) (500 x 2 divisions)

Configuration of the 5-phase stepping set "BP1 series”

BP1 series instruction manual 1 pc.
PM driver 1 pc.
Stepping motor 1 pc.
Terminal Base Cover 1 pc.

Two types of PM driver can be selected for the [ssiion]Type [ PM river Model [ Rated Curentof Appicable Stepping motor |

5-phase stepping set “BP1 series”. BP12 | Normal PMM-BA-5603-1 0.75 Alphase
High-
BP13 | (ooed PMM-BA-5604-1 1.5 Ajphase

Characteristics

® Flexible
This stepping system can drive wide variety of stepping motors from small capacity to large capacity without
adjustment, resulting in wide applications.

® Compact and high torque
Mounting dedicated ICs, which are highly integrated and have higher reliability, realizes the compact and high-torque
system.

Built-in function

® Low vibration mode
Our dedicated control system realizes a low vibration and smooth operation.

® Pulse input system selection function
Either "Pulse and direction mode" or "2-input mode" can be selected, using a dipswitch. Resolution setting function.

® Operation current switch function
Operation current of the stepping motor ranging from rated current to 40% of rated current can be set by using rotary
switches.



Explanation of set model number

(1 System on the stepping motor flange side (@ System on the stepping motorend capside ...
Low-backlash gear 1/36, 1/7.2,1/10, 1/20, 1/30, 1/36 Brake Electromagnetic brake -
Harmonic gear 1/50,1/100 Encoder Please contact us regarding the encoder. £
None None

Stepping motor flange Stepping motor end cap

| T

~——— Stepping motor end cap side

Stepping motor flange side—%—»

PN
[2a]
« Low-backlash gear
(3 Deceleration ratio of gear system T
Example: deceleration ratio 1/3.6—+3.6 =
Explanation for model number in the combined case
The set model number of the stepping motor is as follows when PMM-BA-5603-1 and 103F7851 type are combined and _
equipped with the system of harmonic gear (1/100) and brake: s
BP12F781D—H B 100
‘ E@ Gear deceleration ratio (1/100)
Standard set model number @ Brake
@ Harmonic gear g
How to order:
Please order by using the “Set model number” in the list, Standard combined stepping motors for 5-phase stepping set “BP1” series. 77777
When gear, brake, and/or encoder are necessary for the stepping motor “STEPSYN F"”, select codes of your preferences from the above (1), @), and @) to
continuously describe them after “Set model number”. -
o
[=]
PM driver specifications
P
(=]
Input source Single phase AC100V/115V+10, -15% 50/60Hz
Source current 4A ‘ 8A
Operating ambient temperature 0to +50°C
Conservation temperature -20to +70°C
Operating ambient humidity 35 to 85%RH (no condensation)
Conservation humidity 10 to 90%RH (no condensation)
Vibration resistance Tested under the following conditions, 4.9m/s?, Frequency range 10 to 55Hz, Direction: along X, Y and Z axes, for 2 hours each
Impact resistance Considering the NDS-C-0110 standard section 3.2.2 division “C", not influenced
Withstand voltage Not influenced when AC1500V is applied between power input terminal and cabinet for one minute
Insulation resistance 10MQ MIN. when measured with DC500V megohmmeter between input terminal and cabinet.
Mass(Weight) 0.8kg(1.76 Ibs) ‘ 1.3kg(2.87 Ibs)
Protect function Against PM driver overheat
Select function Auto current down, energization mode, input pulse mode, stepping motor current, low vibration
LED display Power supply monitor, phase origin monitor, pulse monitor, alarm display
Photo coupler input method, input resistance 3302
Command pulse input signal Input signal voltage, H = 4.0 to 5.5V, L = 0 to 0.5V
Maximum input frequency 100kpulse/s
. . Photo coupler input method, input resistance 330Q
Power down input signal ;
Input signal voltage, H = 4.0 to 5.5V, L = 0 to 0.5V
. Relay terminal output (normally open)
Alarm output signal : .
Terminal capacity: DC24V 1A MAX, or AC120V 0.5A MAX

* Refer to pages 189/203 and after for operation, connection, function, and dimensions of the PM driver.
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Common specifications

Class B (+130°C)

AC1500V, 50/60 Hz, one minute

100MQ against DC500V

Amplitude 1.52mm (P-P), frequency range 10 to 55Hz, 5 minutes sweep time, along X, Y, and Z axes, for 2 hours

Conditions: 98 m/s? acceleration, 11 minutes duration, half-wave/sine wave, three times each along X, Y, and Z axes, 18 times in total

-10 to +50°C (0 to +40°C for the one with harmonic gear)

20 to 90% (no condensation)

Combination model number for BP12
PM driver model number: PMM-BA-5603-1
Combination model number for STEPSYN F series

ors for 5-phase stepping set “BP1"” series

Combination model number for BP13
PM driver model number: PMM-BA-5604-1
Combination model number for STEPSYN F series

BP12F551S 103F5505-7041 BP12F551D 103F5505-7011
BP12F552S8 103F5508-7041 BP12F552D 103F5508-7011
BP12F554S 103F5510-7041 BP12F553D 103F5510-7011
BP12F781S 103F7851-7041 BP12F781D 103F7851-7011
BP12F782S 103F7852-7041 BP12F782D 103F7852-7011
BP12F783S 103F7853-7041 BP12F783D 103F7853-7011
BP12F551S-CX3.6 103F5505-70CXA4 BP12F551D-CX3.6 103F5505-70CXA1
BP12F551S-CX7.2 103F5505-70CXB4 BP12F551D-CX7.2 103F5505-70CXB1
BP12F551S-CX10 103F5505-70CXE4 BP12F551D-CX10 103F5505-70CXE1
BP12F551S-CX20 103F5505-70CXG4 BP12F551D-CX20 103F5505-70CXG1
BP12F551S-CX30 103F5505-70CXJ4 BP12F551D-CX30 103F5505-70CXJ1
BP12F551S-CX36 103F5505-70CXK4 BP12F551D-CX36 103F5505-70CXK1
BP12F551S-HX50 103F5505-70HXL4 BP12F551D-HX50 103F5505-70HXL1
BP12F551S-HX100 103F5505-70HXM4 BP12F551D-HX100 103F5505-70HXM1
BP12F551S-XB 103F5505-70XB41

BP12F552S-XB 103F5508-70XB41

BP12F554S-XB 103F5510-70XB41

BP13F781S 103F7851-8041 BP13F781D 103F7851-8011
BP13F782S 103F7852-8041 BP13F782D 103F7852-8011
BP13F783S 103F7853-8041 BP13F783D 103F78563-8011
BP13F851S 103F8581-8041 BP13F851D 103F8581-8011
BP13F852S 103F8582-8041 BP13F852D 103F8582-8011
BP13F853S 103F8583-8041 BP13F853D 103F8583-8011
BP13F892S 103F89582-8041 BP13F892D 103F89582-8011
BP13F893S 103F89583-8041 BP13F893D 103F89583-8011

BP13F781S-CX3.6

103F7851-80CXA4

BP13F781D-CX3.6

103F7851-80CXA1

BP13F781S-CX7.2

103F7851-80CXB4

BP13F781D-CX7.2

103F7851-80CXB1

BP13F781S-CX10

103F7851-80CXE4

BP13F781D-CX10

103F7851-80CXE1

BP13F781S-CX20

103F7851-80CXG4

BP13F781D-CX20

103F7851-80CXG1

BP13F781S-CX30

103F7851-80CXJ4

BP13F781D-CX30

103F7851-80CXJ1

BP13F781S-CX36

103F7851-80CXK4

BP13F781D-CX36

103F7851-80CXK1

BP13F851S-CX3.6

103F8581-80CXA4

BP13F781D-CX3.6

103F8581-80CXA1

BP13F851S-CX7.2

103F8581-80CXB4

BP13F851D-CX7.2

103F8581-80CXB1

BP13F851S-CX10

103F8581-80CXE4

BP13F851D-CX10

103F8581-80CXE1

BP13F851S-CX20

103F8581-80CXG4

BP13F851D-CX20

103F8581-80CXG1

BP13F851S-CX30

103F8581-80CXJ4

BP13F851D-CX30

103F8581-80CXJ1

BP13F851S-CX36

103F8581-80CXK4

BP13F851D-CX36

103F8581-80CXK1

BP13F781S-HX50

103F7851-80HXL4

BP13F781D-HX50

103F7851-80HXL1

BP13F781S-HX100

103F7851-80HXM4

BP13F781D-HX100

103F7851-80HXM1

BP13F851S-HX50

103F8581-80HXL4

BP13F851D-HX50

103F8581-80HXL1

BP13F851S-HX100

103F8581-80HXM4

BP13F851D-HX100

103F8581-80HXM1

BP13F781S-XB

103F7851-80XB41

BP13F782S-XB 103F7852-80XB41
BP13F783S-XB 103F7853-80XB41
BP13F851S-XB 103F8581-80XB41
BP13F852S-XB 103F8582-80XB41
BP13F853S-XB 103F8583-80XB41




Combination of BP12

STEPSYN F Series (Standard)

0.13(18.41)

0.18(25.49)

0.26(36.82)

0.6(85.0)

0.93(131.7)

epping or data sheet

1.79(253.5)

0.03(0.16)

0.053(0.29)

0.065(0.36)

0.275(1.50)

0.4(2.19)

0.84(4.59)

0.23(0.51)

0.28(0.62)

0.37(0.82)

0.6(1.32)

0.78(1.72)

1.36(3.00)

STEPSYN F Series (With low-backlash gear)

0.35(49.6) 0.7(99.1) 1(141.6) 1.5(212.4) 1.5(212.4)
0.03(0.16)
0.2 0.1 0.072 0.036 0.024 0.02
1:3.6 1:7.2 1:10 1:20 1:30 1:36
0.6 0.4 0.35 0.25 0.25 0.25
500 250 180 90 60 50
0.36(0.79)
15
20

* The rotation direction of the motor and the gear output shaft is as follows: when deceleration ratio is 1:3.6, 1:7.2, or 1:10, both motor and shaft rotate in the same
direction, and for 1:20 or 1:30 type, the motor and the shaft rotate in opposite direction.
(Note1) When load is applied at 1/3 length from output shaft edge.

STEPSYN F Series (With harmonic gear)

2.5(354.0) 4(566.4)
0.042(0.23)
0.0144 0.0072
1:50 1:100
0.4~3 (+0.16N-m)(x22.66 0z-in) 0.4~3 (+0.2N-m)(+28.32 0z-in)
500 250
0.52(1.15)
200
250

* The gear output shaft rotates in the opposite direction of the motor.

(Note1) When load is applied at 1/3 length from output shaft edge.

STEPSYN F Series (With electromagnetic brake)

0.13(18.4)
0.045(0.25)
0.38(0.84)

0.18(25.5)
0.068(0.37)
0.43(0.95)
Non-excitation operation system
DC24 £5%
0.08
2
0.3
30(42.48)
20
Brown:,White:©

0.26(36.8)
0.08(0.44)
0.52(1.15)
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Combination of BP13
STEPSYN F Series (Standard)

0.6(85.0) 0.93(131.7) 1.79(2563.5)
0.275(1.50) 0.4(2.19) 0.84(4.59)
0.6(1.32) 0.78(1.72) 1.36(3.00)

2.06(291.7) 4.02(569.3) 6.17(873.7) 10.8(1529.4) 16(2265.7)
1.45(7.93) 2.9(15.86) 4.4(24.06) 14.6(79.83) 22(120.28)
1.5(3.31) 2.5(6.51) 3.5(7.72) 7.5(16.53) 10.5(23.156)

STEPSYN F Series (With low-backlash gear)

1.25(177.0) 2.5(354.0) 3(424.8) 3.5(495.6) 4(566.4) 4(566.4)
0.275(1.50)
0.2 0.1 0.072 0.036 0.024 0.02
1:3.6 1:7.2 1:10 1:20 1:30 1:36
0.55 0.25 0.25 0.17 0.17 0.17
500 250 180 90 60 50
0.97(2.14)
30
100

* The rotation direction of the motor and the gear output shaft is as follows: when deceleration ratio is 1:3.6 or 1:7.2, both motor and shaft rotate in the same direction,
and for 1:10, 1:20, or 1:30 type, the motor and the shaft rotate in opposite direction.
(Note1) When load is applied at 1/3 length from output shaft edge.

4.5(637.2) 9(1274.5) 9(1274.5) 12(1699.3) 12(1699.3) 12(1699.3)
1.45(7.93)
0.2 0.1 0.072 0.036 0.024 0.02
1:3.6 1:7.2 1:10 1:20 1:30 1:36
0.4 0.25 0.25 0.17 0.17 0.15
500 250 180 90 60 50
2.7(5.95)
60
300

* The rotation direction of the motor and the gear output shaft is as follows: when deceleration ratio is 1:3.6 or 1:7.2, both motor and shaft rotate in the same direction,

and for 1:10, 1:20, or 1:30 type, the motor and the shaft rotate in opposite direction.
(Note1) When load is applied at 1/3 length from output shaft edge.



epping or data sheet

STEPSYN F Series (With harmonic gear)

5.5(778.8) 8(1132.9)
0.31(1.69)

0.0144 0.0072

1:50 1:100

0.4~3 (+0.28N.m)(+39.65 0z-in) 0.4~1.5 (+0.4N-m)(+56.64 0z-in)
70 35

1.2(2.65)
400
400

* The gear output shaft rotates in the opposite direction of the motor.
(Note1) When load is applied at 1/3 length from output shaft edge.

256(3540.2) 41(5805.9)
1.65(9.02)
0.0144 0.0072
1:50 1:100
0.4~3 (+0.28N-m)(+39.65 o0z:in) 0.4~3 (+0.28N-m)(+39.65 ozin)
500 250
3.3(7.28)
1400
1400

* The gear output shaft rotates in the opposite direction of the motor.
(Note1) When load is applied at 1/3 length from output shaft edge.

STEPSYN F Series (With electromagnetic brake)

0.6(85.0)

0.93(131.7)

1.79(253.5)

0.43(2.35)

0.56(3.06)

1(5.47)

0.94(2.07)

1.12(2.47)

1.7(3.75)

Non-excitation operation system

DC 24 + 5%

0.25

6

0.8(113.3)

30

20

Electromagnetic brake specification

Red:,Black:©

2.06(291.7)

4.02(569.3)

6.17(873.7)

2.24(12.25)

3.69(20.17)

5.19(28.38)

3.5(7.72)

4.5(9.92)

5.5(12.13)

Non-excitation operation system

DC 24 +5%

0.42

10

7(991.2)

50

20
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Dimensions [ unit: mm (inch) |
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STEPSYN F
BP12F55(1[] 4.5+0.15

103F551-70C1] " (1771£.0089)

Cross section S-S
- 34
(1.34) -
Lead wire UL3266 AWG26
34 15
BBj:1 /,211 20+0.5 042-+0.25 (1.34) (.59)
+. +. 79+,
(B+.04) / (Ax.04) (.79+.02) E1.65.01) m
1.5 (1.57) -
= .06) 4-31+0.25
Z|Z (4-1.22+.01) 40 15
15% 52 153 1157) (59)
y ol® 0
(59 "5 g (59788 ©a -
(Effective length) = (Effective length) :
T [ 49 15
s s (1.93) (.59)
s s
_ =. @
|88 —S —S k_/
5|88 ©loe 0SS 9 @
Tl 1 [ 3|88 983 A LY
0| o ooc|868 ©og|8d
8 8 R3 MIN. R3IMIN. L} 1 ‘\" |
< (R12MIN) R1zZMN) & 8 o 4-M3X0.5
& @ g .
5 2 Effective tapping depth 4(.16)MIN.
BP12F7811/ BP13F7810]
103F785-70C1 / 103F785-80C ]
. 46.5
S 7.5+0.1 —
L] (2952 .0039) 1.83)
= 46.5 21
S|S Cross section S5 (1.83) (83)
a4 56.0
oo (2.17) -
N
: - 55.0 21
Lead wire UL3266 AWG22 217) (83)
B+1 A1 2405 (.95+.02) a
60+0.5 87.5
(B+.04) (A.04) 7(.28) 2.362.02) (3.44) -
Z|2 1:5(06) 4-50+0.13 87.5 21
207 s|= 20 (4-1.97=.01) (3.44) (.83)
oS
(79788 sls (7970 oom | 465 B
(Effective length) (Effective length) (D ) (1.83)
EES ® @ 46.5 21
7 S 5|59 Y (1.83) (.83)
= 8 g ©
|58 —s 5 \J 85.0
5|88 ] == ® @ 2.17) -
TS | gsg N )
- -§88 55.0 21
S g R4 MIN. RA MIN. 2 2 4-Pa5°95 (2.17) (.83)
2 Ri6MIN) (R16 MIN.) & 02 87.5
s (4-p.18"% N _
87.5 21
(3.44) (.83)
BP13F85[1[]
103F8581-80C 1]
qé/"—‘ 13+0.15
(.5118.0059)
62.15
= (2.45) -
|8 Cross section S-§
Sl 7 62.15 32
UL vinyl tube ee (2.45) (1.26)
Lead wire UL1430 AWG22 2 92.2
B+1 085+0.51 (3.63) -
(B=+.04) A+o8 37405 (1.46+.02) (63.35+.02)
{A+.03) 7.5(.30) 470+ 9@'?,3) ?1226)
— T - 0.13 . .
R ZeE 25(10) " @-2.76+.01)
250 (98" 06 zls 254 (.98"06) 12(451'32) _
(Effective length) 8= (Effective length) /-L% :
T Y - 125.85 32
g JE ® \@ (4.95) 1.26)
i S -3|5%
88 = =mmiy ©
S $ \ s I ® ®
= | R&AMIN./ = ‘ ‘
(R.16 MIN.) |RamIN. 2[53 - <
|88 RIBNIN) o5 |83
5|5 < é 4-¢5.5"0°
o = S8 (4-p22"8
s 8 =
=

29




SIONS [ Unit: mm (inch) ]

BP13F89L1S
103F8958.1-80L ]

o
<<
ol
p8=(E
e
@
f Cross section S-S
5 |
(.20)
UL vinyl tube Lead wire UL1430 AWG18
B+1 At 35+05 0106.4+05
(Bx.04) / (Az.04) (1.38+.02) (94.19 02)
= 2(.08) 4-89+0.13
Z E (4-3.50+.01) 5
s 14(.55) o)
S
8ls 28(1.10)
HE =S
& a
8| —s =
sl
- «|88 &
g28 s
— e Tl T T
5|28 o8 gt
eS| sle sy
o S
~| S - S
S 8 - (4-0.33"8 a
S 3 o
o~
o
[=]
o
o
[=]
=
o
(=]
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Dimensions I unit: mm (inch) ]
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STEPSYN F with low-backlash gear

BP12F551S-CXCI]
103F5505-70CX1]
4.5+0.15
(.1771+.0059) 15
(.59)
Lead wire UL3266 AWG26 Lross section $-5
B+1 64.5+1 20+05 a2 *‘1"2
(B£.04) (2.54+.04) (.79+.02) (o1.65-% 15
3 1.65- (.59)
i (12)
g —
157" = 12
(59+04 3 (4% 15
= (.59)
(Effective length) = (Effective length)
L 15
- L — (.59)
2|8
e 4
2
g g8 o§ 88 ®|& 5.5:+0.1 -
eS| T O =
RAMIN. '| & o © (.2165+.0039)
RI6MN) © & T S 15
- e g e R 4-M4x0.7 (.59)
. ) s
(R.12MIN.) =~ = Effective tapping depth 8(.31) MIN.
15
(.59)
BP13F7810J-CX1J
103F7851-80CXL] —
oé 7.5%01 21
(.83)
B
S| 5 Crosssection S5 -
e
=g
Lead wire UL3266 AWG22 2 21
B1 92415 32+05 (.83)
(Bz.04) (3.62.06) (1.26+.02)
3 960+0.7
(12) (F2.36+.03) —
2z 12" 4-49.5+0.2
0
SE oS (4 1.95+.01) 21
208 2z 477 (83)
(7973 " 8g (Eﬁecnve length)
(Effective length) E, ° _
|
] =S 21
3 .83,
B I LI\ y (83)
588 RIANG
| o REMIN ! ! = iile P o -
B E (R16 MIN.) R4 MIN. Eg‘g °§ §§ e @ d
s RIBMN) °FES 7T 7015 7
®| 2 32 (.2756+.0059) (.83)
= 93 4-Max0.7
s = Effective tapping depth 8(.31) MIN.
21
(.83)
BP13F8511-CX[1]
103F8581-80CX[ L]
13+0.1
4- 003 —
5118+
K618 0059 Conta- sgsg (1574 )
= e 32
l 258 0.1 .§§ (1.26)
3|8 < < 250 eg|s
CossseoonT 3 5 (0984”855 parallel ke Y2 _
o T CoosssectionsS  (Bundled with motor) -5
- 32
Lead wire UL1430 AWG22 1.26)
UL vinyl tube —
=3 B+1 127.3+15 321
2| (Bx.04) (5.07.06) (1.26x.08) 32
S|2 987,61
218 o I (73.54:£.04) (1.26)
= H (12) 4-73.6+02
(4-2.90%.01) —
327 (1.26"33)
(Effective length)| g . 2
— 25+ :‘ (o D) (1.26)
s (.98"88
|5 B Effective length
g § «-}.T (Effective length) _
8% A s \
s < —T o) 2
R4 MIN. _
{R16MIN.) S ——— 38 (& K &y (1.26)
EES g8 Sz X
S8 =588 =FE El5 B
7177 s g 4-M8X1.25
Iz o E S g Effctv apping depth 15.59)MIN. -
s = = 1.26)

31




Dimensions I unit: mm (inch) 1

o
<

STEPSYN F with harmonic gear
BP12F551-HX(T] ,
103F5505-70HXT] «—T 3=t
(70&6-wm (.1 181 40090)

8<\1:| o—t
EEPE -

(.05)

Specification of key
Lead wire UL3266 AWG26

B+ 82+1 25+05
(B+.04) (3.23+.04) (.98+.02)
[.2 D42+03
; (.08) (91.65+.01)
=2 (28) 22.5+05
1573 sS= (.89+.02)
- o~
(59786 g n &
(Effective length) = || 18 (71
4.5+0.15 Key
(.1771.0059) {
) .
Cross section S-§ Q$ 3.% i o§ 3%
w| B R3MIN. 282 82 @ g
S SR *LEL = 8§ =
s L4 045 12
sggE  tewmo
=2 =
a
BP13F781-HX(] =
103F7851-80HXL]
o 7.5401
LY (29B250030) (g, ooyl
0
4-003
(1574-8%)
7 8 U1 &
38 /82 o
&y Cross section S-S Specification of key gc?'- 88 =
"8 <
5
Lead wire UL3266 AWG22 - | BRgrElsRx0 -
B+1 113.5+15 28+05
(B+.04) (4.47+.06) (1.10+.02)
25 2\e
IaL) s o
il XS &
[1(.39) 2) 06007 o
20" 20 (72.36+.03)
(7989 (79)
(Effective length) = — ® Q)
os| |
1
- $ AN
= s/ s N L 5
0| 88 o 2 P
552 ] o o% 88 =
of — )
HIE — o \ kE
s R4 MIN. 5| 5
(R16 MIN.) &l =N T
S8 4-955
by (4-9.22)
BP13F851-HX[[]
103F8581-80HX[]
1301 25-02 ‘ 6-003
(51180039 | [0 ( ggap—38% (2362 -33%
16 |
3 (.06)
Cross section S-S =| 8
dld b(\
RAES S Se= .
8 v/ EES
2 o588
Lead wire UL1430 AWG22 1481501 Parallel ke °l &
UL vinyl tube (5.68+.06) <
2= Bxt 4005 -
ZIE Bzod (157+.00)
HE 12 3
0|3 =
=1 Ny (.47) (12 130(1.18) > )07
e 7
28(1.10) N
25'0(.98 80 s a:10) %\ _os0z0s
(Effective length) Q 25 (.98) 4 (°3.54+.01)
N T key 2|3 Q Q
0§ —~ 2|88 \\
H{E 5 A
o2 - A 3 3|5 Q Jer 1
®8 | ramn. = 8 g \S s
- (RI6MIN.) R ®| °5%8
2|88 HES 78
o3| I e
T L o g 4-99.2 —
<| =
I 8 S 4-¢.36)
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Dimensions I unit: mm (inch) 1

STEPSYN F with Electromagnetic Brake

4.5+0.15
(.1771+.0059)

Cross section S-§

7.5+01
(.2952++.0039)

Cross section $-§

7.5+0.1
(.2952:+0039)

BP12F55[1S-XB
103F55[ 1 -70XB41
Brake lead wire Lead wire
UL3266 AWG26 UL3266 AWG26
A+1 20+05
(A+.04) (.79+.02)
D42+0.25
(81.65+.01)
- o 1.5 4-312025
z|2 m z|Z (-06)1 4-1.22.01)
sz s 158
=30 o0
8= m “ 8 (15978
- - (Effective length)
]
F-S
—S
588 sls8
oo|oo oo| oo
R3 MIN. RS & T
(R12MIN) 2 8 | &
%8 sl g Effective tapping depth 4.16) MIN.
s =
BP13F78]S-XB
103F7851-80XB41
Brake lead wire UL1430 AWG22
Lead wire UL3266 AWG22
Ax1 24+05 560
(Ax.00) (:94x.02) 102.36::;)
7(.28)
- - 4-50+0.13
Z|z EHE 1.5(.06) @-1.97x.01)
2= s|= "
=] 8|5 2070
®|= ®|S
= = (7984
(Effective length)
782
— -5[5¥
g g
—s s =
°
1 —
R4AMIN. £|8%
! (R6MIN.) =5 §,$
| o
9 =
&
s +.
~ (a-p0.18"%
BP13F85[1S-XB
103F858-80XB41 134015
(.5118:.0059)
a g Cross section S-S
Brake lead wire UL3266 AWG22 s
UL vinyl tube Lead wire UL1430 AWG22
Ax1 3705 $86+051
(Ax.04) (1.46.02) ($3.39+.02)
085+0.51
75 (93.35+.02)
1.03) 4-70013
> = 2.5 (4-2.76+.01)
. =
ZZ Z|g 100
25 =S 1
e 8|S 25 0
hiae b (08758
) (Effective length) LoIPY ®
= T A
3l §
=
\R4 MIN. © é.é _
(R.16 MIN.) =.§ T
< =
Sl
o ©
= (4-9.22"8

00




@ BP12F551(] / BP12F551S-XB : 100V

@ BP12F552(] / BP12F552S-XB : 100V

57 05 10 57 05 10 —
70 70 T
9 9 <
60 60
4 04 8 4 04 8
50 7 50 7
- |z < - |E = <
2 | § 3 Eos 6 F R 6 E
X401 & = e 5401 5 = o
sTe |2 55 s |3 53
5] 1 K o g E El o
gl g | € g gl 3 | € g
H = = 5 o =
S 5 2 ©0.2 435 S g 2{C02 43
~L | 3 » = »
20 ™~ ?\h"" 20
=>4 =
oo = B Pl 1 oooa
10 ‘,._-&i?“" ; 10
0 0 0 fs d 0 0 0 0 -
0.1 1 0 100 0.1 1 o
Pulse rate(kpulse/s) Pulse rate(kpulse/s) @
Full Full
100 1000 2000 3000 5000 100 1000 2000 3000 5000
Half — . Half — -
10 100 1000 20003000 5000 10 100 1000 20003000 5000
Number of rotations(min-1) Number of rotations(min-1)
103F5505-7001[1/103F5505-70XB41 103F5508-701[]/103F5508-70XB41
Source voltage : AC100V-Operating current : 0.75A/phase Source voltage : AC100V-Operating current : 0.75A/phase T
— Pull-out torque(JL1=0.94x10*kg-m? [5.14 0z-in?] Use the rubber coupling) — Pull-out torque(JL1=0.94x10"*kg-m?[5.14 0z-in?] Use the rubber coupling) =
— - = Source current(TL.=MAX) - --Source current(TL=0) —-=Source current(TL=MAX) ---Source current(TL=0)
fs : No load maximum starting pluse rate fs : No load maximum starting pluse rate
M Full-step M Half-step M Full-step M Half-step e
@ BP12F554(] / BP12F554S-XB : 100V @ BP12F7811: 100V s
70 51 05 10 140 107 1.0 10
9 9 e
60 120 A AL
o oa 8 8{ 08 // 2 8
50 7 100 ,/ \ 7 ~
~ | = < ~ | = 1] < o
£, 5 3o H 2 | 5 sl Eos 6 F e
K407 = = e %801 = e
s |2 |3 5 s |2 |3 53
] 3 ° o ® 3 o
Sl 2 | € g Seol 2 | € g
S 5 2{ Qo2 £ 5601 £ 4{ Soa -
ClT 8 N — =N 8
20 0 4 3
4
1 o1 2{ 02 U 2 o
L LN N o
10 20 e AR M= N i =}
0 0 0 0 0 0 fs 0
0.1 1 0.1 1 100
Pulse rate(kpulse/s) Pulse rate(kpulse/s) — s=eeee
Full Full
100 1000 2000 3000 5000 100 1000 2000 3000 5000
Half Half
10 100 1000 20003000 5000 10 10 1000 20003000 5000
Number of rotations(min-1) Number of rotations(min-1) bl
(=]

103F5510-70]J1/103F5510-70XB41
Source voltage : AC100V-Operating current : 0.75A/phase

103F7851-7001]

Source voltage : AC100V-Operating current : 0.75A/phase

— Pull-out torque(JL1=2.6x10"*kg-m?[14.22 0z:in?] Use the rubber coupling)
—-—Source current(TL=MAX) ---Source current(TL=0)

fs : No load maximum starting pluse rate

M Full-step M Half-step

— Pull-out torque(JL1=0.94x10"*kg-m?[5.14 0z-in?] Use the rubber coupling)
—- = Source current(TL=MAX) ---Source current(TL=0)

fs : No load maximum starting pluse rate

M Full-step M Half-step

@ BP12F782(1: 100V @ BP12F783(]: 100V

20

2.0

10 700 507 5.0 10
250 9 9
600
161 1.6 8 40{ 40 8
200 7 500 7
~ = LA < ~ = _ <
2 £ 12| T12 & 6% E £ 30{ £30 6%
X - > X “ 5
1501 2 =3 £ 5 z 2
€ |3 A\ 5 3 3 |f |9 53
] g R
S |2 sl Sos - Za00{ & 50| 820 ==ma AN .
2 o = U 3 L2 S = & 4 3
100{ F LN _s\ o I~ o
> SNTiH 2 @ AT e 7
- 3 200 - 71 3
A RERd
50 4 04 10 1.0 < . N 2
100 &= 4 -4+ H U
L= =TT~ o 1
I, g I S e NN
ol o o o1f 0 ol o] o fsl s 0
0.1 1 10 100 0.1 1 1 100
Pulse rate(kpulse/s) Pulse rate(kpulse/s)
Full Full
100 1000 2000 3000 5000 100 1000 2000 3000 5000
Half — Half —
@ 10 100 1000 2000 3000 5000 @ 10 100 1000 20003000 5000

Number of rotations(min-1)

Number of rotations(min-1)

103F7852-701(]

Source voltage : AC100V-Operating current : 0.75A/phase

—— Pull-out torque(JL1=2.6x10"*kg-m? [14.22 0z-in?] Use the rubber coupling)
—- = Source current(TL=MAX) - --Source current(TL=0)

fs : No load maximum starting pluse rate

M Full-step M Half-step

103F7853-701]

Source voltage : AC100V-Operating current : 0.75A/phase

—— Pull-out torque(JL1=7.4x10"*kg-m? [40.46 0z-in?]Use the rubber coupling)
—-=Source current(TL=MAX) ---Source current(TL=0)

fs : No load maximum starting pluse rate

M Full-step M Half-step
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@ BP13F781] / BP13F781S-XB : 100V

140

IS
S

N
=]

o

Torque(kgf-cm)

10

1 10

9

0.8 8

7
N 2
E06 1) 6
2 SNV, €
T s 53
3 7L AN 2
= LA, Le o
204 = v 45
i S 3
ey 2

ﬂ/ 3

- Y
LAl a1t
0.2 e gerans 2
L= "

1

0 fs| | Ify 0

0.1 1 1 100

Pulse rate(kpulse/s)
Full
100 1000 2000 3000 5000
Half
10 100 1000 20003000 5000

Number of rotations(min-1)

103F7851-801(]/103F7851-80XB41

Source voltage : AC100V-Operating current : 1.5A/phase
— Pull-out torque(JL1=2.6x10"*kg-m? [14.22 0z-in?] Use the rubber coupling)
—---Source current(TL=0)
fs : No load maximum starting pluse rate

— - = Source current(TL=MAX)

M Full-step M Half-step

@ BP13F783] / BP13F783S-XB : 100V

700

600

Torque(oz-in.)
w 3 a1
S 8 S
S S S

N
=3
S

=)
S

o

Torque(kgf-cm)

50

40

30

20

5.0 10

9

4.0 8

7
= <
£30 . —tLti6 £
2 7 £
T 4 53
g 8
220 45
\ .9

N L
1.0 2
™

1

0 fs | 15 0

0.1 1 1 100

Pulse rate(kpulse/s)
Full
100 1000 2000 3000 5000
Half

10

100 1000
Number of rotations(min-1)

103F7853-80[1]/103F7853-80XB41

Source voltage : AC100V-Operating current : 1.5A/phase
— Pull-out torque(JL1=7.4x10*kg-m? [40.46 0z-in?]Use the rubber coupling)
=== Source current(TL=0)
fs : No load maximum starting pluse rate

— - = Source current(TL=MAX)

M Full-step M Half-step

@ BP13F852(] / BP13F852S-XB : 100V

1400

1200

1000

Torque(oz-in.)
(=3 =3
3 3
3 3

IS
S
S

N
=3
S

o

Torque(kgf-cm)

100

80

60

40

20

2000 3000 5000

10.0 10
9
8.0 8
7
£6.0 = 6
2 A
g =<
L 40 bz 4
AN 3
v gt LN )
—— ~
\\\' !
0 1M N 0
0.1 1 10 100
Pulse rate(kpulse/s)
Full
100 1000 2000 3000 5000
Half
10 100 1000 20003000 5000

Number of rotations(min-1)

103F8582-80(1[(1/103F8582-80XB41
Source voltage : AC100V-Operating current : 1.5A/phase
—— Pull-out torque(JL1=15.3x10*kg-m? [83.65 0z-in2]Use the rubber coupling)

— - = Source current(TL=MAX)

- --Source current(TL=0)

fs : No load maximum starting pluse rate
M Full-step M Half-step

Source current(A)

@ BP13F782(] / BP13F782S-XB : 100V

250

200

Torque(oz-in.)
@
3

=3
S

20

Torque(kgf-cm)

2.0 10

9

1.6 8

7
= . z
€12 — 6 ¢
s 5 s
z i E
] 7\ 53
g 7 3
© 0.8 4 5
L 0. 7 H
) VA \\5\ 3

, RN 3

<l L
04 pEas dnkiie 2
- PR oy
-

1

0 fs S| 0

0.1 1 M 1 100

Pulse rate(kpulse/s)
Full
100 1000 2000 3000 5000
Half
10 100 1000 20003000 5000

Number of rotations(min-1)

103F7852-801(]/103F7852-80XB41

700

600

500

400

300

Torque(oz-in.)

200

100

0

1400

1200

1000

Torque(oz-in.)
[~} =3
o o
3 3

IS
3
S

N
=3
S

o

50

40

30

Torque(kgf-cm)

100

80

60

Torque(kgf-cm)

40

@ BP13F851] / BP13F851S-XB : 100V

Source voltage : AC100V-Operating current : 1.5A/phase

— Pull-out torque(JL1=2.6x10*kg-m?[14.22 0z-in?] Use the rubber coupling)
—-=Source current(TL=MAX)
fs : No load maximum starting pluse rate
M Full-step M Half-step

—---Source current(TL=0)

5.0 10
9
4.0 8
7
= <
£3.0 = — 6 T
z H i ,/'/ £
] A 53
z dq @
500 . A, 4 S
= T 14 3
/| 3
10 L e d Al N 2
B et \\ R
angiile
0 sl g 0
0.1 1 100
Pulse rate(kpulse/s)
Full
100 1000 2000 3000 5000
Half
10 100 1000 20003000 5000

Number of rotations(min-1)

103F8581-80L][1/103F8581-80XB41

Source voltage : AC100V-Operating current : 1.5A/phase
— Pull-out torque(JL1=7.4x10"*kg-m? [40.46 0z-in?]Use the rubber coupling)
—-—Source current(TL=MAX)
fs : No load maximum starting pluse rate
M Full-step M Half-step

@ BP13F853] / BP13F853S-XB : 100V

= ==Source current(TL=0)

10.0 10
9
8.0 8
= 7
- NI
£6.0 - 6
z .
g am 5
S 40 7 4 4
i
. 3
L t";i/'\ bo
2.0 aNIIREE S, 2
=== F S \
TtHIs< Y - -\'\ 1
0 SIS 0
0.1 1 1 100
Pulse rate(kpulse/s)
Full
Y 100 1000 2000 3000 5000
Half
S 10 1000 20003000 5000

Number of rotations(min-1)

103F8583-80[1[1/103F8583-80XB41

Source voltage : AC100V-Operating current : 1.5A/phase
——pPull-out torque(JL1=43x10"*kg-m?[235.10 0z-in?] Use the rubber coupling)
—-—Source current(TL=MAX)
fs : No load maximum starting pluse rate
M Full-step M Half-step

- -=-Source current(TL=!

0)

Source current(A)



@ BP13F892(1: 100V

200 20 10

2500 9

160 16 8

2000 7
- € _ BE=s: Z FE == g
£ 51201 E 12 tH 6 E
- 8 € I3
315001 © Z /x\ £
] 3 ] 5 3
T EA g /] . 8
S 5801 ° 8 e 45
10001 L1 3

3

N N
500 40 4?_— Pt o /‘\/' 2
S-T18<4s e 1
; \\\
s | fs
0 0 0 oo 0
0.1 1 1 100
Pulse rate(kpulse/s)
Full
100 1000 2000 3000 5000
Half :
10 100 1000 20003000 5000

103F89582-801[]

Number of rotations(min-1)

Source voltage : AC100V-Operating current : 1.5A/phase
——Pull-outtorque(JL1=43x10"*kg-m? [235.10 0z-in?] Use the rubber coupling)

— - = Source current(TL=MAX)

- - - Source current(TL=0)

fs : No load maximum starting pluse rate

M Full-step M Half-step

@ BP12F551C1-CX3.6 : 100V

70 5, 05 10
With low backlash gear 9
60
4 0.4 8
50 7
2 | § 3 Eos 6
3 40{ & s
¢ |12 |3 5
g |3 3
Z30 5 g
e 8 2| fo2 4
20 3
1 0.1 2
10
1
0 0 0 0
0.1 1 100
Pulse rate(kpulse/s)
Full
10 50 100 200 300 500
Half
10 50 100 500
Number of rotations(min-1)
103F5505-70CXAC]

Source voltage : AC100V-Operating current : 0.75A/phase
— Allowable torque(JL1=0.94x10*kg-m? [5.14 0z-in?] Use the rubber coupling)

— - —Source current(TL=MAX)
M Full-step M Half-step

@ BP12F551-CX10 : 100V

= ==Source current(TL=0)

207 20 10
250 With low backlash gear 9
16{ 1.6 8
200 7
< §12{ E12 6
81501 |2
k1 = ] 5
[ ] ]
T E g
5 g 8 So0s 4
= 100] ¥
3
50 4 04 2
1
0 0 0 0
0.1 1 100
Pulse rate(kpulse/s)
Full
10 50 100 180
Half

103F5505-70CXEL]

10 50 100 180
Number of rotations(min-1)

Source voltage : AC100V-Operating current : 0.75A/phase
—— Allowable torque(JL1=2.6x10*kg-m? [14.22 oz-in?] Use the rubber coupling)

— - =Source current(TL=MAX)
M Full-step M Half-step

- —=Source current(TL=0)

Source current(A)

Source current(A)

@ BP13F893(] : 100V

2007 20.0 10

2500 ._\ 9

1601 16.0 8

2000 7
= Tl = . <
< §120{ €120 AV ali 6 F
815001 & |Z ’ )\ £
] 3 ] 7| 5 3
g EN - s ]
S 5 801 S 8.0 45
1000{ + 1% &

3

40 L= N 2

500 NN K

~~E 3 b 1

0 0 0 fs | fs| 0

0.1 1T 1 100

Pulse rate(kpulse/s)
Full
100 1000 2000 3000 5000
Half — :
10 100 1000 2000 3000 5000

103F89583-8001(]

Number of rotations(min-1)

Source voltage : AC100V-Operating current : 1.5A/phase
— Pull-out torque(JL1=43x10"*kg-m? [235.10 0z-in?] Use the rubber coupling)

—-=Source current(TL=MAX)

- --Source current(TL=0)

fs : No load maximum starting pluse rate

M Full-step M Half-step

@ BP12F5511-CX7.2: 100V

140 107 1.0 10
With low backlash gear 9
120

8{ 08 8

100 7
= € <
z E 6 o6 6 E
801 « = o
S 2 |3 53
I} > ] 3
Seol 2 | € g
S S 4] Sos =
e o = 3
= &

0 3

2{ 02 2

20

1

0 0 0 0

0.1 1 100

Pulse rate(kpulse/s)
Full
10 50 100 150 250
Half

10 50
Number of rotations(min-1)

103F5505-70CXBL]

100 250

Source voltage : AC100V-Operating current : 0.75A/phase
— Allowable torque(JL1=0.94x10"*kg-m?[5.14 0z-in?] Use the rubber coupling)

— - —Source current(TL=MAX)
M Full-step M Half-step

@ BP12F5513-CX20 : 100V

= ==Source current(TL=0)

207 20 10
With low backlash gear
250 9
16{ 1.6 8
200 7
- e 2
< §12] E12 6 E
8150 & 4 g
g s |2 53
2 E 5 9
5 | £ 8 08 4 £
Rt S 2
3
50 4 04 2
1
0 0 0 0
0.1 1 1 100
Pulse rate(kpulse/s)
Full 0 ERES
Half
a 10 50 90

103F5505-70CXGL]

Number of rotations(min-1)

Source voltage : AC100V-Operating current : 0.75A/phase
——Allowable torque(JL1=2.6x10"*kg-m?[14.22 0z-in?] Use the rubber coupling)

—-=Source current(TL=MAX)
M Full-step M Half-step

- —-=Source current(TL=0)

36
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@ BP12F551-CX30 : 100V

250

Torque(oz-in.)

Torque(kgf-cm)

20

2.0 10
With low backlash gear 9
1.6 8
7
€2 6
S
g 5
g
Lo8 4
3
0.4 2
1
=
0 0
0.1 1 100
Pulse rate(kpulse/s)
Full
02 50
Half
002 50

103F5505-70CXJC]
Source voltage : AC100V-Operating current : 0.75A/phase

—— Allowable torque(JL1=2.6x10"*kg-m? [14.22 0z-in?] Use the rubber coupling)
—-=Source current(TL=MAX)

M Full-step M Half-step

Number of rotations(min-1)

@ BP13F781C-CX3.6 : 100V

250

Torque(oz-in.)

50

Torque(kgf-cm)

20

—---Source current(TL=0)

2.0 10
With low backlash gear s
1.6 8
7
12 6
z
T 5
g
2 0.8 4
= - { -
4 3
1 s
0.4 DL S 2
L~ 24—
LI~
1
0 0
0.1 1 100
Pulse rate(kpulse/s)
Full
10 50 100 200 300 500
Half

10

50 100

Number of rotations(min-1)

103F7851-80CXAL]
Source voltage : AC100V-Operating current : 1.5A/phase
— Allowable torque(JL1=2.6x10"*kg-m?[14.22 0z-in?]Use therubber coupling)

— - =Source current(TL=MAX)

M Full-step M Half-step

@ BP13F781C1-CX10: 100V

700

600

Torque(oz-in.)
w S o
S S S
o o o

N
1=
=

1=
S

o

Torque(kgf-cm)

- ==Source current(TL=0)

507 5.0 10
With low backlash gear 9
401 40 8
7
301 €30 6
z
T 5
3
g
201 °2.0 - 4
= =14
¥ g 3
144
PE:
10 1.0 4 2
=]~
= 1
0 0 0
0.1 1 1 100
Pulse rate(kpulse/s)
Full
10 50 100 180
Half

103F7851-80CXEL]
Source voltage : AC100V-Operating current : 1.5A/phase
—Allowable torque(JL1=7.4x10*kg-m?[40.46 0z-in?] Use the rubber coupling)

—-=Source current(TL=MAX)

M Full-step M Half-step

100
Number of rotations(min-1)

- -=Source current(TL=0)

180

Source current(A)

Source current(A)

Source current(A)

@ BP12F551C1-CX36 : 100V

250

200

50

Torque(oz-in.)

=)
S

50

Torque(kgf-cm)

20

Source current(A)

2.0 10
With low backlash gear s
1.6
7
1.2
z
T
3
g
2038 4
3
0.4 2
1
0 0
0.1 100
Pulse rate(kpulse/s)
Full
020 50
Half
) 50

103F5505-70CXKC]

700

600

500

400

300

Torque(oz-in.)

200

100

0

700

600

Torque(oz-in.)
w £ a
o =3 o
3 3 3

N
=3
S

=3
S

o

Torque(kgf-cm)

Torque(kgf-cm)

50

40

30

20

50

40

30

20

M Full-step M Half-step

@ BP13F781C]-CX7.2:: 100V

Number of rotations(min-1)

Source voltage : AC100V-Operating current : 0.75A/phase
—Allowable torque(JL1=2.6x10"*kg-m? [14.22 0z-in?] Use the rubber coupling)
—-=Source current(TL=MAX)

—---Source current(TL=0)

Source current(A)

5.0 10
With low backlash gear 9
4.0 8
7
E30 6
2
] 5
5 A g
2 2.0 o f 4
L1 3
2
1
0 0
0.1 1 100
Pulse rate(kpulse/s)
Full
10 50 100 150 250
Half

103F7851-80CXBL]

Source voltage : AC100V-Operating current : 1.5A/phase
—Allowable torque(JL1=7.4x10*kg-m?[40.46 0z-in?] Use the rubber coupling)
—-—Source current(TL=MAX)
M Full-step M Half-step

@ BP13F781CJ-CX20 : 100V

10

50

100

250

Number of rotations(min-1)

= ==Source current(TL=0)

5.0 10
With low backlash gear 9
4.0 8
7
E30 6
z
] 5
g
220 7 4
(A
s
A ’r"” 8
L
1.0 L 2
T
1
0 0
0.1 1 1 100
Pulse rate(kpulse/s)
Full
10 50 90
Half

103F7851-80CXGL]

Source voltage : AC100V-Operating current : 1.5A/phase

——Allowable torque(JL1=15.3x10*kg-m? [83.65 0z-in?] Use the rubber coupling)
— - —Source current(TL=MAX)
M Full-step M Half-step

10
Number of rotations(min-1)

- - -Source current(TL=0)

Source current(A)



@ BP13F7811-CX30 : 100V

700{ 507 50 10
With low backlash gear 9
600
401 40 8
500 7
= 5 <
2 £ 301 £3.0 6%
g5 |2 g
T 3 S 53
g 2 5 2
5390 £ 20{ 820 ey 45
[ J 7 3
200 LU 3
21 LA
10{ 10 - 2
100 e A o ;
0 0 0 0
0.1 1 100
Pulse rate(kpulse/s)
Full
u 10 20 50
i , -
Hal 10 20 50

Number of rotations(min-1)

103F7851-80CXJL]

Source voltage : AC100V-Operating current : 1.5A/phase

—Allowable torque(JL1=15.3x10*kg-m?[83.65 0z-in?] Use the rubber coupling)
—-=Source current(TL,=MAX) ---Source current(TL=0)

M Full-step M Half-step

@ BP13F851C]-CX3.6 : 100V

7004 507 50 10
With low backlash gear 9
600
0] 10 8
500 7
- = |- <
< € 30{ €30 6t
g4a00) £ | 2 ’ £
: |3 |3 ’ °3
Z300{ & g g
K 5 201 220 e 43
2]
. 3
200 Py
0] 10 s = 2
100 =F1T] ) 1
0 0 0 0
0.1 1 10 100
Pulse rate(kpulse/s)
Full
u 10 50 100 200 300 500
Half

10 50 10 500

Number of rotations(min-1)
103F8581-80CXAL]
Source voltage : AC100V-Operating current : 1.5A/phase
—Allowable torque(JL1=15.3x10"*kg-m? [83.65 0z-in?] Use the rubber coupling)
—-—Source current(TL=MAX) ---Source current(TL=0)
M Full-step M Half-step

@ BP13F851C1-CX10: 100V

1400 1007 10.0 10
9
1200
80{ 80 8
1000 7
- |z z
< § 60| E6.0 63
geool g | 2 £
o = e o
26001 T H | 4
5 £ 4 4 4
8 5 0] 240 T H
. T 3
400 1A
20{ 20 - - 2
200 == 1 h
1
0 0 0 0
0.1 1 10 100
Pulse rate(kpulse/s)
Full T © 0 1@
Half 0 50 100 180

Number of rotations(min-1)

103F8581-80CXEL]

Source voltage : AC100V-Operating current : 1.5A/phase

—Allowable torque(JL1=43x10"*kg-m?[235.10 oz-in?] Use the rubber coupling)
—-=Source current(TL=MAX) ---Source current(TL=0)

M Full-step M Half-step

@ BP13F7811-CX36 : 100V

700{ 507 50 : 0
With low backlash gear 9
600
4] 40 8
500 7
~ <
= £ = =
£ £3.0 6
S400] 2301 2 5
3 2 |3 53
g T 3 3
S300] & g 8
S 5 201 220 7 45
= pe K]
200 LAk 3
11k
10{ 10 — j - 2
100 L T ;
0 0 0 0
0.1 1 10 100
Pulse rate(kpulse/s)
Full
10 20 50
Half 10 20 50

Number of rotations(min-1)

103F7851-80CXK[]

Source voltage : AC100V-Operating current : 1.5A/phase

——Allowable torque(JL1=15.3x10"*kg-m? [83.65 0z-in?] Use the rubber coupling)
—-—Source current(TL=MAX) ---Source current(TL=0)

M Full-step M Half-step

@ BP13F851C]-CX7.2:: 100V

14004 1007 100 10
h low backlash gear s
1200
801 80 8
1000 7
B 2
z € 60 £6.0 6 €
58001 5 | 2 /] £
| ' 2
o00| 7 g ¢
5 g 40{ S0 43
k] 5 ° —2 3
© 3
400 3
20{ 20 RS 2
200 hE
1
0 0 0 0
0.1 1 10 100
Pulse rate(kpulse/s)
Full
10 50 100 150 250
Half
10 W 10 250

Number of rotations(min-1)

103F8581-80CXBL]

Source voltage : AC100V-Operating current : 1.5A/phase

— Allowable torque(JL1=43x10"*kg-m? [235.10 0z-in?] Use the rubber coupling)
—-—Source current(TL=MAX) ---Source current(TL=0)

M Full-step M Half-step

@ BP13F851C1-CX20 : 100V

2007 20.0 10
With low backlash gear

2500 9

1601 16.0 8

2000 7
S z
g §120{ E12.0 6 E
315001 B |2 E
g T |% 53
2 ] 5 ®
5 Z 80{ S 80 45
Fio00f £ |7 2

3

so0] 40 40—t - 2

1

0 0 0 0

0.1 1 10 100

Pulse rate(kpulse/s)
Full 0 0w
Half

0 50 90
Number of rotations(min-1)
103F8581-80CXGL]
Source voltage : AC100V-Operating current : 1.5A/phase
—Allowable torque(JL1=43x10*kg-m? [235.10 oz-in?] Use the rubber coupling)
—-—Source current(TL=MAX) ---Source current(TL=0)
M Full-step M Half-step

a
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DP4
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@ BP13F8511-CX30 : 100V

2007 20.0 10
With low backlash gear

2500 9

1601 16.0 8

2000 7
. = _ K
3 §1201 120 6 g
§1500{ 5 z g
H : |3 53
S ] 3 H
] £ gl 2 H
e 2 80{ F 80 43
1000 3

- 3

500 40{ 40 — 5 e 2

1

0 0 0 0

0.1 1 10 100

Pulse rate(kpulse/s)
Full
L) 50
Half
10 20 50

Number of rotations(min-1)

103F8581-80CXJC]

Source voltage : AC100V-Operating current : 1.5A/phase

——Allowable torque(JL1=43x10*kg-m? [235.10 0z-in?] Use the rubber coupling)
- - -Source current(TL=0)

— - —Source current(TL=MAX)
M Full-step M Half-step

@ BP12F55101-HX50 : 100V

14004 1007 10.0 10
With harmonic gear s
1200

80{ 8.0 8
1000 7

= € —
£ 5 601 E6.0 6

'g 800 E’ 3
g 3 S 5

Ze00{ T ,| £
S 5 407240 4
400 L 1l 3
20{ 20 2

200
1
0 0 0 0
0.1 100
Full
u 10 20 70
Half

10 20 0
Number of rotations(min-1)

103F5505-70HXL] M Full-step M Half-step

Source voltage : AC100V-Operating current : 0.75A/phase

——Instantaneous allowable torque(JL1=15.3x10"*kg-m? [83.65 0z:in?] Use the rubber coupling)
— —Allowable torque(JL1=15.3x10*kg-m? [83.65 0z-in?] Use the rubber coupling)
- - =Source current(TL=0)

— - = Source current(TL=MAX)

@ BP13F78101-HX50 : 100V

2007 20.0 10
With harmonic gear

2500 9
1601 16.0 8
2000 7
2 E120{ £12.0 | 6

Sw00] B (2 7
|3 [§ AN

2 g /.

] £ 80{ 0 8.0 Bl 4 4

1000{ + s

~
. R B APy 1 A 3
g
s00l 40 40 =T 2
1
0 0 0 0
0.1 1 1 100
Pulse rate(kpulse/s)
Full ] 70
Half 2 0

10
Number of rotations(min-1)

103F7851-80HXLC] M Full-step M Half-step

Source voltage : AC100V-Operating current : 1.5A/phase
——Instantaneous allowable torque(JL1=43x10*kg-m? [235.10 0z:in?]Use the rubber coupling)
— —Allowable torque(JL1=43x10"*kg-m?[235.10 0z:in] Use the rubber coupling)

— - - Source current(TL=MAX)

- - - Source current(TL=0)

Source current(A)

Source current(A)

@ BP13F8511-CX36 : 100V
200, 20.0 ‘ 10
With low backlash gear

2500 9

160 16.0 8

2000 7
< T120{ 120 62
315001 % z g
T K 3 53
] g 3 H
g g |e 45
S < go{ "~ 80 3
= 1000 @

T~ 1 F — b =t 3

s00] 40 40 SR 2

1

0 0 0 0

0.1 100

Pulse rate(kpulse/s)
Full
10 20 50
Half
0 2 50

Number of rotations(min-1)

103F8581-80CXK]

Source voltage : AC100V-Operating current : 1.5A/phase

——Allowable torque(JL1=43x10kg-m? [235.10 0z-in?] Use the rubber coupling)

— - —Source current(TL=MAX)
M Full-step M Half-step

@ BP12F551C]-HX100 : 100V

- - -Source current(TL=0)

14004 1007 100 10
With harmonic gear 9
1200
801 8.0 8
1000 7
= .=
< 5 60{ £6.0 6
3 800 E) 2 .
] 3 3
Ze00{ & ,0] 5
S S 40{ S 4.0 4
3
400 A
20{ 20 Z 2
200
L+ 1
0 0 0 0
0.1 1 100
Pulse rate(kpulse/s)
Full
Y 5 10 3%
Half

5 10 3%
Number of rotations(min-1)

103F5505-70HXMC] M Full-step M Half-step

Source voltage : AC100V-Operating current : 0.75A/phase
——Instantaneous allowable torque(JL1=43x10"*kg-m? [235.10 0z:in?] Use the rubber coupling)
— —Allowable torque(JL1=43x10*kg-m?[235.10 0z-in?] Use the the rubber

eoupling)
Source current(TL=MAX)

@ BP13F781C1-HX100 : 100V

Source current(TL=0)

7000 5007 500 10
With harmonic gear s
6000
400{ 400 8
5000 7
= B -
g 300{ E300 g 6
540001 £ /
) > ] LA
53000 5 g /; ’ af
5 Sa00| G0 =17 4
.
2000 Al 3
J"’ J”
100{ 100 == L 2
1000 L= = wpsiy il Il ol ol | il ol [l ol ;
0 0 0 0
0.1 1 1 100
Pulse rate(kpulse/s)
Full 5 10 35
Half - ps

5
Number of rotations(min-1)

103F7851-80HXML] M Full-step M Half-step

Source voltage : AC100V-Operating current : 1.5A/phase

—— Instantaneous allowable torque(JL1=43x10%g-m? [235.10 0z:in] Use the rubber coupling)
— — Allowable torque(JL1=43x10"*kg-m? [235.10 0z:in?] Use the rubber coupling)

—--Source current(TL=MAX)

- - - Source current(TL=0)

Source current(A)

Source current(A)



@ BP13F8511-HX50 : 100V @ BP13F8511-HX100 : 100V
14000] 10007 100 10 20007 200 10 —
With harmonic gear With harmonic gear £
9 25000 9
12000
800 80 8 1600 160 8
10000 7 20000 7
B 2 S z
£ 5 60{ E 60 - R g S1200{ E120 = 6 F
58000) £ | 2 1 / £ 3150001 & | Z s
3 |3 |3 MRS T s |3 NP 2
Ze000| & g /| . g g 800 g 80 - &
= R =X H Fio000f 2| T A =IN- 8
A 3 : 3
4000 L Ldl-FH b=zl
00{ 20 L 2 so00] W0 40 — e = 2
2000 Fl=k =TT T
1 1
0 0 0 0 0 0 0 0 ~
0.1 1 10 100 0.1 1 10 100 o
Pulse rate(kpulse/s) Pulse rate(kpulse/s) @
Full Full
10 20 70 5 10 3%
Half o ® 70 Halt 5w B
Number of rotations(min-1) Number of rotations(min-1)
103F8581-80HXLL] M Full-step M Half-step 103F8581-80HXMLC] M Full-step M Half-step
Source voltage : AC100V-Operating current : 1.5A/phase Source voltage : AC100V-Operating current : 1.5A/phase T
—— Instantaneous allowable torque(JL1=43x10*kg-m? [235.10 0z-in?] Use the rubber coupling) —— Instantaneous allowable torque(JL1=43x10"kg-m?[235.10 0z-in?] Use the rubber coupling) =
— — Allowable torque(JL1=43x10"*kg-m?[235.10 0z-in?] Use the rubber coupling) — — Allowable torque(JL1=43x10"*kg-m?[235.10 oz-in?] Use the rubber coupling)
—--Source current(TL=MAX) - -- Source current(TL=0) —-—Source current(TL=MAX) --- Source current(TL=0)
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